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For the following two (02) items :

¢ 1+sinf

EL‘IEE'_ =2 B4y p” +1.

7. What iz sect equal to?
al p
@) {p?+1
W

@ ——=
Vp© t1

8. What is tan® equal to?
fa) P
b) p*+1

e} —

For the following two {02) items :

Let sinB +cosh = P and aech +cosech = 4,

where p# 1.
g. What is the relation between p and q?
@ p=alp*-1
w) 2p=alp® -~
© a=p°-1
(@) 2a=pw* -1
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10. What is tan@ + cot@ equal to?

@ £

(1)

= e

fc)

alg

(dl

= |8

11. If ,|'z+,,||ﬂ+,.|"'g+ B+.. =cosech, then

what is sin® equal to?

fa] 1

(b}

wle

fcl

|~

1
@ 3

o 1)
12. If BsinB-cogf =4, where Q<< ks

then what is cosec8 equal 107
fa) 1

(b} 3/2

fc] Sf3

d) 2 .
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13- If ﬂtﬂ.ﬂa [ ﬂﬂ:i B - :II whm ﬂ < B Fa ;Eu lﬁ 'Th,e d|ﬂ'=ﬂ=n":5 betwEeT the o acuie
then what is cot8 equal to? angles in & right-angled triangle is
B adian. One of the acute angles of
@ 3- 12 _
J . the triangle 1%
mB fZ+1 (a) 60°
fo) J3-1 fb) 57:5°
,|".|;'_|l' 52'5’
(d) J3+2 =
{d) 47-5

i 17. If o and p are the roats of the equation
14. What is (sec8 - tan8)— =222 tqual

1+sinb
to? msm[ggs-e‘ulx"a - 18x + TE}-J
faj O then what is (@ ~-|3x]E equal tad
{b) 2tan® fa) 16
fc] 2sech il
e} 36
fd) sin®+cosh (d 49

18. If x* +y* =14x%y*, then consider the
following :
cosec2h —sec? B i

15. If coth = 47, then what is

logyglx® + y®)

coscc28 +sec” B

. logqlx? - u®)=log,q x +10810 ¥

equal to? +1og, o 2+ 0-5l0810 3
fa) 1f2 Which of the above is/are correct?

fa) 1 only
m 1/3

& 11 only
R fe} Both 1 and 11
[ 3/4 (d) Neither I nor Il
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- 19. Which of the following is/are the factor(s)
of (3x + 4)% +(3x + y)(x + Sy) - 20(x + 5y)2?
. MBx+13y)
1. [x+19y)

Select the correct answer using the

code given below.
fal 1 only
(i) 11 only
f¢) Both 1 and 11

{d} MNeither I nor II

L

What is

e P S
xX-y y-z z-X
x+_g+y+z+z+x+3

X=3 Y= Z=X

equal to?
(@) 1

b) 1/2

@ 1/3

(d) 1/4

*rL What is the remainder when
(1725 +19%)

is divided by 187

fa) ©

b 1

fc) 3

{d) 9
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29, The HCF of x and y 18 H Consider
the following gtatements in  respect

B
of the HCF of p=

x3 40
T T
XL+

q.____‘_?‘____l'lj;—-:
x“-l-ﬂl"*’ifz

and

IETHEnemotp and g can be H.
I m.ﬂﬂfq{p&nﬂqmn b 2H.

Vhict of the statements given above
isjare correct?

fap 1 only
(b) 11 only
fc) Bp_;hl and 11
{d) Meither 1 nor II
23. Ii'.::":-'..ﬂ.é;#'}. where x > 0, then what is
2x* equal to?
fa) 2+3

R

lgen#0, s+pA*0

one of the following is

fa) -§.+q+r+s-u

) p=r

() Either p+g+r+s=0or p='
(d) Hﬁl&ﬁmahd}w
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4x+1
2
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% h&u?:mm“m“ is given followed by ftw,
I and Il Consider th
Question ang the Statements. ;

=

B ABCD 5 a parallelogram  with
R T EARC S g If the area of the
4. parallelogram is 743 square units,

then what is the perimeter of the

Parallelogram?

Statement-]

The lengths of the sides AB and DA
are prime numbers.

= lengths of the sides are natural
mk: rﬂﬂnﬂhgreq:ﬁ,.ﬂmnluuit.




' . 185 T
In g quadrilateral ABCD, AR : i B 0 s of
=6 units,  BC=18 units, CD AC
=6 units, DA=09 units. What is
the length of diagonal BD?

‘Statement-1 :

(W= Yre le

] ngth of BD is an integer
g o g q&u ik

_:: g an even integer,
ol 35 __f.f\mn
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s "-.;.;.1' are travelling i,
jon nt 100 l:m;h, and

'.-_u| and 7:10 a.m.
tha same path,
Bed of 4- -8 km/hr
d of 6 km/hr.




